Chapter 5 

1. Denzel wishes to save money to provide for his retirement.

Suppose he deposits $100 each month into an account that has an APR of 9%, based on monthly compounding. How much will he have in the account in 35 years?

If he expects to need the savings for 20 years after he retires, still assuming a 9% APR, how much can Denzel receive each month in retirement? 

Answer:

1st part:

PMT=100,  I/Y=9/12=.75,  N=35*12=420, CPT FV= -294,178.45

Denzel will have $294,178.45 in his account in 35 years.

2nd part:

PV=294,178.45, I/Y=9/12=.75, N=20*12=240, CPT PMT= -2646.8

Denzel can receive $2646.8 each month during his retirement. 

2. Friendly's Quick Loans, Inc., offers you “4 for 5, or I knock on your door”. This means that you get $4 today and repay $5 when you get your paycheck in one week (or else).

What’s the effective annual return Friendly’s earns on this lending business? If you were brave enough to ask, what APR would Friendly’s say you were paying?

Answer:

Period rate= (5-4)/4 =1/4 =25%

APR=(Period rate)*(number of periods in a year)=25%*52=1300%
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Chapter 6 

1. J&J Manufacturing just issued a bond with a $1,000 face value and a coupon rate of 9 %. If the bond has a life of 20 years, pays annual coupons, and the yield to maturity is 7.5%, what percent of the bond's total price is represented by the present value of the coupons? And what percent of the bond's total price is represented by the present value of the face value?
Answer:

PV of Face Value: FV=1000, N=20, I/Y=7.5, CPT PV= - 235.41

PV of coupons: PMT=90, N=20, I/Y=7.5, CPT PV= - 917.50

Bond Price= PV of Face Value + PV of coupons =235.41+917.5=1152.91

(Another approach to calculate Bond Price: 

PMT=90, N=20, I/Y=7.5, FV=1000, CPT PV= -1152.91)

Percent of bond price represented by PV of coupons=917.5/1152.91=79.58%

Percent of bond price represented by PV of Face Value=235.41/1152.91=20.42%

Chapter 7

1. What is the value of a stock that is expected to pay a constant dividend of $2 per year if the required return is 15%?

What if the company starts increasing dividends by 3% per year, beginning with the next dividend? The required return stays at 15%.

Answer:

1st part: 
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2nd part: 
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2. You observe a stock price of $18.75. What is the required return if the company pays a constant dividend of $1.50 per year?

If the dividends grow at 5% and the most recent dividend was $1.50, what is the required return?
Answer:

1st part: 
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2nd part: 
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